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I, CANOFY (LARGE FRUIT ¥ NUT TREES)
2., Low TREE LAYER ( DWARF FRUIT TREE.
3, SHRuE LAYER ( CvaRanTS ¥ BERRIE
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1 REA SR M 600 120 72,000
2 9] M 2,000 140 280,000
3 5 M 2,000 90 180,000
4 FLEBR M2 2,500 50 125,000
5 5 M 700 420 294, 000[HDPER
6 i JE 1 100,000 100,000
7 RS KE M 20 250 5,000
8 {15 B 3 100,000 300,000
9 ACHRTH M2 200 1,100 220,000
10 7Kg A M2 400 1,650 660,000
11 N M 200 1,000 200,000
12 AR (3 40 2,500 100,000
13 SN {73 200 2,500 500,000
14 AR M 1,000 120 120,000
15 AL (23 2,000 50, 100,000
16 ELRE M2 4,230 120 507,600
Nt 3,763,600
i R (575)
1 ] & 1 100,000 100,000
2 pizza % B 1 150,000 150,000
3 U ELAH 4 1 350,000 350,000
4 500L7K K i 5 3,000 15,000
5 T i 20 550 11,000
6 SRl =) 30 1,000 30,000
7 el ) 50 50, 2,500
8 SHERTER INFNUN 96 1,600 153,600 A /4K 6/
INeF 812,100
AR (—+T) 4,575,700
= |HERETE
1 HERGETE = 1 24,300 24 ,300[5%
&t 4,600,000
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